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Q.1. Choose the correct options  (1×1=8)  
(i) If in a right angled triangle ABC, mC = 90°, then c is called:

 c  mC = 90°ABC  
(a) base  (b) hypotenuse 
(c) perpendicular  (d) vertex 

(ii) If in a right angled triangle ABC, mC = 90°, and A is base angle, 
then b is called:  b  A  mC = 90°ABC  
(a) base  (b) hypotenuse 
(c) perpendicular  (d) vertex 

(iii) in a right angled triangle the side opposite to the right angle is called:

  
(a) perpendicular  (b) base 
(c) hypotenuse  (d) right angle  
(iv) An arc whose measure is less than 180° is called a________.

 180° 
(a) minor arc  (b) major arc 
(c) arc length  (d) sector area 
(v) A straight line that touches a circle at a single point

externally is called: 
(a) chord  (b) tangent  (c) sector  (d) line segment 
(vi) The prependicular distance from base to the apex in a pyramid

is called________. 
(a) area  (b) lateral surface area 
(c) slant height of pyramid  (d) altitude 
(vii) The volume of pyramid is always _________ of the prism.


(a) two-third  (b) one-third 
(c) one-fourth  (d) two-fourth 

(viii) Volume of pyramid = = 
(a) base area × height of pyramid

 × 
(b)  base area + height of pyramid

  +   

(c)  base area × height of pyramid

 ×   

(d)  base area + height of pyramid

  + 

Q.1. Answer the following questions.       (2×6=12)   
(i) If central angle of the sector of circle is 36° and r is 15cm then what will

be the arc length?

 15  30 
(ii) Find the volume of a hexagon based pyramid with base area 23cm2 and

height 8cm.

 8  23 
(iii) If angle is 130° and radius is 28cm then what will be the arc length and

sector area of the circle?

 28  130 
(iv) Find the surface area of a square pyramid with a base length of 5cm and

a slant height of 10cm.

 10cm  5cm 
(v) What is the volume of a triangular pyramid whose base area is 92 inch2 

and height is 4 inches?

 4  42 
(i) In an isosceles right angled triangle the squre of the hypotenuse is 98cm.

Find the length of the equal sides:

 98 
Q.3 The shadow of a pole measured from the foot of the pole is 2.8m long. If

the distance from the tip of the shadow to the tip of the pole is 10.5m,
then find the length of the pole. (5)

 10.5  2.8 

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